CHEM 106 Chapter 9 Stoichiometry
MOLE-MOLE CHL{

1. Balance the equation. How many moles of H.S are expected when 2.55 moles methane
P
react? iR

CHa(g) + S(s) = CSa() + H:S(9)
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2, Given the balanced equation:
KeCr:Or(ag) + 6K1(ag) + TH:SOu(ag) — Cra(SO9s(ag) + 4KoSOu(ag) + 3a(ag) + TH0()

a) Calculate the number o@sof HQSO‘,kchat will react with 2.0 mol KI.
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b) Calculate the number of moles of I!that will be produced frorrt 2.0 mol KI{
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MOLE-GRAM

3. How many grams of aluminum metal should react to produce 0.0305 moles aluminum
sulfate?

2Al(5) + 3H,SO04(aq) — Al(SO)s(ag) + 3Ha(9)
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4. Oxygen gas can be produced by decomposing hydrogen peroxide:

2H202(aq) —_ 2H20(}) + Oz@
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If 35.0 grams of pure hydrogen peroxide are decomposed, how many{ moles of oxygen §re
produced?
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5. How many grams of HBr would react with 1.29 grams Ca(OH) in the equation below?

GRAM-GRAM

2HBr(ag) + Ca(OH)2(ag) — 2H2O() + CaBra(ag)
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6. What mass-silver chloride is expected (theoretical yield) when 132.0 grams AIC; react
with & @r nitrate? (
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AlCl3(aq) + 3AgNOs(ag) — 3AgCl(s) + AINOs)s3(aq)
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LIMITING REACTANT

7. You combine 5.00 moles butane 3ith 10.00 moles oxygen. The balanced equation is
below.

2C + 130,(9) — 8C02(g) + 10H i
40135% |3: 00 mal =
a) many moles of water#§ produced?
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b) What is the limiting reactant?




8. How many grams silver bromide (AgBr) can be formed when solutions containing 50.0 g
MgBr. and 100.0 g AgNO; are mixed? Which reactant is limiting? The molar masses are

provided along with the balanced equation below.
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MgBro(ag) + 2AgNOs(ag) — 2AgBr(s) + Mg(NO3)o(a) amowrt 9 iven
9| .
5’0.03 100.0 9 Prob kw 15 LR

Mg
My br, > Agbr 8~ 187719
_,2,_,/—/“%% /_fg_g /_Z, - /01%1475(

| Agbr
s0.0M580 X pug " imot i [0 K/ Hraocetical
M7B} ldldl

Br #
— ol AaBr ’37‘77;% - W
1 ol Aghls ><'Z-”Z/\/f))r W



ceky CSy Ly
9. Carbon tetrachloride was prepared by reacting 100.g carbon disulfide and 100.g chlorine
gas. The equation and molar masses are below.

Molar Masses (g/mol): 76.14 70.90 153.82 135.04
CSz() + 3Cha(g) — CCl() + S2Ca()

Calculate th {wig‘f%l' btained
alculate the percent yield 11 65.0 4 Was obtained. )
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